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@ Which Act separated Burma from India ?

PART — A : General Knowledge

(A) Government of Indian Act, 1935 (B) 1833 Charter Act

(C) Rowlatt Act (D) Minto-Morley Act

CIBSFFLL LD UMoreey @QbSwnaledmig LNNsss5

(AN@BHW o FL_tb 1935 (B) 1833 il wési_1b

(C) Glyerev” &Lt th (D) AeiGLr-1omial) FL_i_1b &
2. Name the Nayak who inaugurated the kingdom of Ramnad.

(A) Muthu Krishnappa (B) Muthu Vaduganathar

(C) Chokkanatha Nayakkar (D) Vishwanatha EYE

@umopns Anprews CerL RS ags BMWSSET Wi 2 E']?%;

(A) wsg1 S@eyemii (BN wpsgr u@aprst

(©) Qendspns Bmudsst (D) afeipeumnsi

3. (i) The Mangulam inscription mentions the king Nedunchezhiya Pandian.
(i) The Mangulam inscriptions were depicted in Tamil-Brahmi letters.
(A) (i) only correct (B) (ii) only correct
(C) Both (i), (ii) are wrong (D) Both (i), (ii) are correct
(1) wriigerd H6vGlUL B LrehTgwer GG EsCFLwer uDD FmpISDSI.

(i) omsigerd Hev6leuL () HLilp-Lgmd) erpsgssarmed QUGS L amal.

(A) (1) wl @b &M (B) (i) @b &l
(©) (), (il) @ue@Ld Soumy (ON(), (i1) @uer@d &l
4. Which of the following statement is true ? EYE

it
(1) In Sangam Age the Kingship was hereditary. EIP

(ii) The King was called “Ko”.

(A) (ii) only (B) (i) only

(C) Both (i) and (ii) (D) None of the above

SLPETL_ FaPDMIFHGTIG) GTENGU 2 GRTEHLDIITGTIGNG ?

(i) sEIGEHIVSHD peFniento LIFLDLIGH JLITCTS).

(il) ypeir “Can” e1er jenpsaLil L.

(A) (ii) oL @b (B) (i) w@uw

(CN() odguib (ii) @oesr@id - @auppled aigyaqb @aena




5. Match the following :
a) St. David Fort (i) Calcutta
b) St. George Fort (i) Pondicherry
c) St. William Fort (iii) Chennai

d) St. Louis Fort (iv) Cuddalore

(A) (iv), (i), (iii), (1) (B) (iv), (iii), (i), (ii)
(C) (iv), (iid), (i), (1) (D) (ii), (iv), (i), (iii)
QunBS&Is :

a) yefls GLralll. Casment_ (1) sv&ss55T E5E
b) yeflls sggmishy Canien - (i) unedmigsCer El%.s;

¢) yeafls aflevaSlwd Canent  (iii) Gleerenes
d) yeafls ruiev GanenL (iv) sLgri

(A) (iv), (D), (iii), (1) (BY (iv), (iii), (i), (ii)
(C) (iv), (iid), (ii), (1) ‘ (D) (i), (iv), (), (iii)
6. The President of India can nominate
(A) 12 members of Lok Sabha (B) 2 members of Rajya Sabha
(C) 12 members of Rajya Sabha (D) 14 members of Rajya Sabha

GUYWIFS STV Blwibés i@ ueuiser
(A) Gondsamus@ 12 2 piiferiser  (BY grgw s @ 2 2 mueiser
(C) mngw sevud@ 12 2 pindenisar (D) grguw sanusE 14 o mlSletiser
7. Which house of the Parliament is known as Permanent House of the Parliament that never

gets fully dissolved ?
(A) The Lok Sabha (B) The Rajya Sabha
(C) The Ministerial Cabinet (D) The group of Ministers
BIL_TEBLOGTDSEGH TS SJema, BN _TQBLOGTDSEGT BaT Sjeanuns JBwCILGEDS! ?
(A) wésareney (BY'wonflevrigereney
. L EISE
(C) yamwdsgeney (D) SymLoEFT&HET (&L g%
8. What is the time limit to get the information from RTI Act, 2005 ?
(A) 20 days (B) 25 days (C) 30 days (D) 35 days

saae Yy o Mevwd s b 2005 e g Faaeel CUpIISDHSTET STV
GUJLDL)
(A) 20 pr &6t (B) 25 pmia&ei (Cy30 pniaer (D) 35 priaer
9. The electoral system in India has been adapted from the system followed in the
(A) United Kingdom (B) USSR (C) France (D) China
@QBow Gsiged wpenp & Weruppriu@b Gsige wpapasments HeTUDD)
anmé CsnereruL L g).
(Ay @r&evnpS6ed (B) Genalwg papwmailed
(C) WAgnetrariled (D) &awrnmailed




10. Match the following :
1) Citizenship Act (1)
2) The Preamble (i1)
3) Classical Language-Tamil (iii)
4) The mini Constitution

) (iv)
(A) @), (i), (iii), (iv)
(©) (i), (iv), (ii), (i)
Ounmwgg)s :
1) sy.yfews FUL_ LD (i)
2) wsaeng (ii)
3) Q&Lb@mngﬂ-gmg) (iii)
4) G TR Weven Loty (iv)

(A) (1), (ii), (iii), (iv)

(CYGii), (iv), (i), (i)
@ On which river Tehri dam was constructed ?

(A) Kosi

42™ Amendment

2004

1955

Jawaharlal Nehru
(B) (iii), (iv), (i), (ii)
(D) (iv), (iii), (i), (i)

42 cugy SIS WeVeLDLILIF FLL_SB(535LD
2004
1955 .
ausiwned Gpm

(B) (i), iv), (i), (i)
(D) (iv), (iii), (i), (i)

EIYE

(B) Krishna (C) Narmada (D) Bhagirathi
Cls&M syenewr e1is UDPIGT &m1&Cs SLL LU’ Reteng ?
(A) Gsn® (B) @@mayewnrr (Cf Biwens (D) unyH
12. Which country shares its shortest border with India ?
(A) Nepal (B) Bhutan (C) Afghanistan (D) China

GDEW Blov eTebenaveniu QBSwT 615 B B u&Mg)

(A) Grumemb
©) gusrefevser
13.

(A) Kolkata (B) Mumbai

Osnear@mgy 2
(B) yrner .
(DY @t

Where is the National Jute Board headquarter is located ?

(C) Chennai (D) Delhi

Cs8lw Femeh eumwgSeir SECVDLOWELD CIEIEG JjenLofGIeTeng ?

(AY Csrebasggsn  (B) apbenus
@ Which of the following is true ?

(C) Oseirenes (D) Grsvad

Assertion — A : Tamil Nadp is located in Deccan Plateau.

Reason — R : During cretaceous period this part got separated and formed Gondwanaland.

(A) ‘A’is correct/ ‘R’ is wrong
(C) ‘R’is not related to ‘A’

Heraumuetaunsey sfwneng) eIy 2

(B) ‘R’is correct/ ‘A’ are wrong

(D) ‘A’and ‘R’ are correct =

Fammy Buspu §i_yf areriu@ib sésmenr d‘l_gL&uﬂsﬁ SWOPBI®

S| GOLDIE G| GITCNTS).

SMgesId : @ILEGS HGl CLfwev smewsHeb IOfsg Ceain Canedl eunesm
Boliuguley o peunar gy uGSwnGLb. :

(A) spmy sAwneng /smgesid sauprens)

(B) angewrid silwnes cuné@wib/ gapmy SUPeNg)

(C) sngestb sMwner aferdatb 96w FDPIN G

(DY) gammy opmith smyewTid Q@uam@®w &M

EYE



15. Match the following :

Hill Station State
1) Mussooric i) Himachal Pradesh
2) Shimla ii) Kerala
3) Munnar iii) West Bengal
4) Darjeeling iv) Uttarakhand
(A) 1, ii, iil, iv (B) v, iii, i, ii
(C) iv, i, ii, iii (D) iv, iii, ii, 1
QuUTHSSHIS H4E
LOGHGUGUMLPIL_MEISGIT LonrBlevLd m%
1) wpGsmi i) @unéFalilgGsed y
2) &wevr ii) Gasperm
3) epewTmy iii) Gom@ cumIGmenLD
4) Lniglledms iv) 2.8 rsnesm
(A) i, ii, 1ii, iv (B) iv, iii, i, ii
(Cnivs 1, i, il (D) iv, iii, ii, 1
16. Which hormone is associated with our immune system ?
(A) Insulin (B) Thymosin (C) Thyroxine (D) Adrenalin

wiogl GCrmig sevL_smiL LOGRTL_GUSGIL_ 63T QlGmLiLjeoL_w anniGLoneT 61%) ?
(A) @erseller  (B) angGon@lair (C Wwsgrsedsr  (DYagy Merales

Assertion : Mitochondria are called ‘Power house of a cell’.
Reason : They produce energy rich ATP molecules.

(A) Assertion correct, Reason wrong

(B) Assertion wrong, Reason correct

(C) Assertion and Reason both are wrong

(D) Assertion and Reason both are correct

Sadm : Lot GLnsnat Mwnsser ‘ Cleeeller HHme 2 GGUSET GTGTMI

S Pp&ELILEFIGTDET.
sAgesILh : Hewau avswnpmeart Gupm ATP epevddapisemean o (HeUNTEGHFDS-
(A) smpmy &, sngesib Soum (B) gamay sauml, STJESILD &
(C) &pmi, srgestd @oa@b soun  (DN&@PHI, STyewILD @G &l
18. Match the following : ESE
a) Vitamin C 1) high fat ﬁg}ﬁ
b) Avocado 2) iron

c) Seethaphal 3) fat soluble pigment
d) Carotenoids 4) Guava

(A) 2,1,3,4 (B) 3,4,2,1 (C) 1,4,3,2 (D) 4,1,2,3
O GEETES

a) 2.ufigasg C 1) 98s Seray GamipliLy

b) euGasGLnm 2) @wys 5551

c) &sm uptb 3) CsmupLiteh sengwseag.w FmLd

d) &Gurleemmi@aer 4) Gemiwm
(A) 2,1,3,4 (B) 3,4,2,1 ©) 1,4,3,2 (DY4,1,2,3
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19. A discasc which weakens the bones and makes it brittle is
(A) Paralysis (B) Osteoporosis (C) Fatigue
STQIbLIGENET 6
Oacvgyib Grmus

(D) Nerve Impulse
Quaflpda Claug SAUPDD oL whFgw FaresE CaneEm®

(A) uégsaungd (Bf\%aquGwnGunGanﬂab

(©) sameriy (D) powbys grevs_cd ESE
j 20, Sclect the correct option : Ee:
|

| Statement — I : When vegetables are cooked in water Vitamin — C is lost.
Statement — II : Vitamin — C is water soluble in nature,

(A) Statement I and I are true (B) Statement I and I are false
(C) Statement 1 — true, II - false (D) Statement I - false, II — true

i Filwner aflenL_enwg Ca1igCls .

l Sopi-1: anisPasemer £heh FwsG Gung), o uliésgg — C QuésLILGSDE.
spm1-11: 2 iésdg - C, Bileb senpguyb Hestenio Olasnehrgy. :

: (AY&pmr | wppis 11 &M (B) &apmi I opmyid 11 geumy
(©) &pm 1 &M, 11 saumy (D) &pmi 1 seugy, smpmy 11 &M

21. When white light enters a medium, which colour travels with highest speed ?

t (A) Yellow (B) Red - (C) Violet (D) Blue
% Cleusirener ger @ 2a1_s5Hepyeir Glecvayib Cungl, e15s Bpib D5 GeaussHev
f AL NN
,] (A) Lo@pedr (BY ®auriyy (C) sergm (D) Bevib
» 22. The instrument used to detect the presence of electric charges in a body is
(A) Microscope (B) Voltmeter (C) Electroscope (D) Ammeter
” Cun@wer @emilsh LheigsTs6r QGliues sea@n_Plu LWETLESSOILEL SHEal
I (A) mcsaGewins &) (B) Geunebr” 181" it
(C) Alemavifsiram 1q (ON\oybbL i
23. V=1R Sy

O
(i) The above formula was given by George Simon Ohm.

1 (ii) In this Formula ‘V’ stands for potential, ‘I’ stands for current and ‘R’ stands for resistance.

(A) Only (i) is correct (B) Only (i) is correct
| (C) Both (i) and (ii) are correct (D) Both (i) and (ii) are incorrect
| V=IR

(1) Gupepw sweun® gnis) evsioer @D GTGTLIUTNGY Blmieuiu’ L ).

(i) Gupamplu swerur ged “V’ aerug WeateTsssamsuyd ‘1’ ererug
WesrGermL_gemguidb , ‘R’ ereingy leiseL_anwoutb &GmBEGLb.

(A) (i) w @ &M (B) (ii) w@w &M

(ON(1) opmb (ii) &M (D) (i) ommyb (ii) sMwevev




JE—
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sion produces cnergy in the sun ?

(A) hydrogen to sodium (B) lithium to hydrogen

(C) hydrogen to helium (D) hydrogen to iron

I35 IATYEED @eemallemred G Mwetley DO 2 un&IDSl 7 .
(A) eapt sgefled@sg Cempud  (B) N5 PSP GBS AUIBT
(Cheantsgeiad@is apalu - (D) mant_sgefledlGis GG

25, Cryogenic propellants uscd in rockets are at
(A) very high temperaturc
(C) room tcmperature
@uréeIsLHEalcd LwSTU@SSLILED HrGur Clgens
(A) s 985 QauliuBleaeuileh @)BaGLD —_—
B) SI8s Cauliuflencvuiled [OCEICT E}S&l
(C) Si™D QauriuBlencvuileh @)(H&EGLD
(Oniflss GOPHS QauLiuBeauiled Q)55 &L
26) Laughing is good for health, because it reduces the secretion of stress hormone S
by and makes us to relax.
(A) Adrenal gland (B) Thyroid gland
aALY 2 LG Bowg gblarefs QML sl apmiGoreTer
FIESOX GODSSI FeTentd @uGvL| Aeowse Ganaa® aGEFDS-
(A Meed & (B) evggmi® &y
"(C) 8gewwr &g (D) eogLoe &L
_ A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
(C) Mutation ' (D) Mass Selection
@i 2uiiflersBlet wrytQurmeled Bieblgen gHu@Ld LADYLD
S p&sILBEDS)-
(A) sUILDISSLD

24. .Which nuclcar fu

(B) high tempcraturc
(D) very low temperature
QuéS QUI(HETSET

ecreted

(C) Gastric gland (D) Thymus gland

G163 Ml

(B) Qupmas Csiay

(@S rppLd (D) &L ®S Cziay

28. In which of the following plant food is stored in stem ?
(A) Beetroot (B) Carrot (C) Potato (D) Radish
9GTaUFURTUDMIET GTSSMAITLD SELY.60 2 GRTEHE Gsls&esTIDG ?
(A) LS emL (B) Gagr_ EYE
(C) 2 emas&ILpmI& - (D) gpeirarmi&) ‘E“%g

29. Choose the correct pair.
(A) Vitamin A — Rickets
(C) Vitamin B, - Beriberi
shwner @)enenTeni Gsin6ls®
(Ayeneul’ L LhlesT A — M& Gl L6 (B) emeur’_thleir D — F@gnLigmevLbhum
(C) ewauL_thleir B, — QuAGM (D) emeul_Lhlar B, — evsiall

(B) Vitamin D — Xerophthalmia
(D) Vitamin B, — Scurvy

——



-

30.

31.

32.

34,

3S.

ELISA test and WESTERN BLOT test are used to detect

disease.
(A) Typhoid (B) AIDS (C) Polio (D) Cholera
a1eflen Gangenar wHmIb Qeuevl’ L ier Hemrl. Gengene Cpmis Uiy
s lw LwSHTUESDF).

(A) Gﬁ)l_oooLHTu:IG]

(BY \eriis e %35
(®)) @ e Nerener GUTSLD (D) srevgm E “*I‘
Asscrtion (A): The President is the Supreme Commander of the Armed forces of India.
Reason (R)

: The President is the head of the
(A) “A’is correct and ‘R’ explains ‘A’
(C) ‘A’is correct and ‘R’ is wrong

S

State and occupies the highest position.

(B) ‘A’is correct and ‘R’ does not explain ‘A’

(D) Both ‘A’ and ‘R’ are wrong

P BYWIES st QB YusLILmL sl smaamio SeTUS
< OUTIT.

STIGSTLD

F QUWTES el BIL 1Y 6T s@aaTEah LS o wits LSS
Bleewyd &S mmi.

(AYepny &f, sngestid FpDpIGETeT sfwner aflerdsLomgLb

(B) &pmy &M, srgend smpmysaner sMumes aforés oo
C) mpay &f, sngenrd Seumy

(D) &mpmy, smyewiLb @uem@Ld Seumy

Who introduced the Local Self Government to India in 1882 ?

(A) Lord Curzon  (B) Lord Wellesly (C) Lord Rippon (D) Lord Hasting

2-GTarT_§) yeviolijsener 1882 ob @)bBwredled I SLIL@SRweurt wmi 9
(A) siger gy (B) QeushGlovavad LAy

(Orvildiuesr Gy (D) Gamavig diev gy

Where is the headquarters of BRICS Organisation located ?

(A) China (B) Brazil (C) Russia (D) South Africa
LKiMge SyemLIeT SamaawsLh 6IBI& OLDBEIGTeNgG ?
(A) S (B) 1Gr&ev (O geapwn

(D) Oserern i Ifngsm
The disputes between Central Government and the State Governments are ad

(A) Parliament (B) High Court (C) President (D) Supreme Court
LOSGWI-LOMBleV yFETiIGRIGET QeL_wilevnes Nésvaamar Siss) ®GUSGLD JEILDLIL| 615 ?
(A) pr_nepemLd (B) 2 widSweimib

ESE
©) vywrss semeveur (Dh 2. s8B8) 0681w 1D ggﬁ
Which of the following State have a common High Court ?

(A) Tamil Nadu and Andhra Pradesh
(C) Punjab and Haryana

judicated by

(B) Kerala and Telangana

(D) Maharashtra and Gujarat
Bpsanayib eipg wilovrsdr Qungeuer 2 Wik waEpsams CuDmieTaTeT ?
(A) s0pBI® wHmid ESTCseh (B) Cagerr Lomib ey rismeTT
(OruEsents wpmid emMwner (D) wangnayigom womid &gons




36.

s

Which Indian has won Nobel Prize in Economics ?

(A) Kailash Satyarthi (B) Mother Teresa

(C) S. Chandra Sekhar (D) Abhijit Banerjee

QunertsngsBed Crnuch ufe Qeusm @)BHwir

(A) manay FSWIISH T (B) yeirenar Glggem™

(C) o100, 8680 Cosir (D) 995818 Guamigd)
37. Which of the following is a direct tax ?

(A) Exciseduty  (B) Customsduty  (C) Incometax (D) Service tax

Bpaumauctaudmier a1g Crriwps euf 2

(A) sevmed curl (B) &nm1s cur (Chau@stones euifl (D) Geeneu aurfl
38. Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

(A) The Nilgiris (B) Nagapattinam %

(C) Thiruchirapalli (D) Thanjavur &

®.

2011 sewaCa@ieruy., sWOPETC e eps wrul LB ureler al&sLh
IPELONS 2_GiTeng)

(A) Bev&iil BN srsliul’g.ewrib

(C) BwéRgnLieral (D) sepemgyi

I) Nationalisation of banks was effected in 1969.
II) ICICI is a Nationalised Bank.

(A) Only I is true (B) Only II is true

(C) Both I and II are true (D) Both I and II are false

I) 1969 aS\prg eumBadr B HLewwnsse CFwedLT 196 2 dTaTs). e

II) ICICI erettgy @ CsPwbwonssiul L eunis)

(A) I b @b &M (B) Il o b &l

(CF] wpmid U @oess@ &M (D) 1 wpmyib 11 @ue@Ld Seumy
40. Stock Markets in India are regulated by

(A) RBI (B) Ministry of Corporate Affairs

(C) SBI (D) SEBI EYE

@QBSwraled LIkIG FHMSEMET RUPEIGLILBSSIUS 618 ? ’@%

(A) @QB8w Ay eumiG) (B) Qu@s Amieuer aNeusnymkiser oeFFsLd

(©) owGr™ CGurig U1 @bHwm (DN@ssw umg womb uleuidsaaet eumfwtb
41. Find out which one is not in the Food Quality and Safety Control Agencies ?

(A) FSSAI (B) AGMARK (C) FICCI (D) FPO

WestaumeaucreaunMled 618 2-69Tay LHMILD TGS GLILT® BmieueTib 9evev

(A) FSSAI (BRAGMARK (@FICCI (D) FPO

A



42. Pernicious anacmia is a deficiency of Vitamin.

43.

44,

(A) Iron (B) Cyanocobalamin
(C) Folic acid (D) Vitamin K

Cuiefafluey @Qrss Cemensenw IDUGSGID 2 1ised s Gopun®
(AN@ oy sass) (B) swGernCGasrunevibesr
(C) %Cunalls yhevid (D) o.ufiésg8 K E¢E
An example for decomposers are and At

(A) Bacte.ria, Fungi (B) Bacteria, Lichens
(C) Fungi, Lichens

(D) Algae, Lichens
nguummma@és@ ST(WSGIGSTL (D6 LopmyLb _
(AYwunge Awnsgser, Lesmaser (B) ungieMwnéser, enovdQaerssr
(©) Yesmssen, mesassar (D) @yevarssd, emawsCseiser
Identify the true statement with reference to noise pollution :

Statement - I : Noise is the unpleasant sound.

Statement — II : Reduces depression and stress.

(A) Statement I only true (B) Statement II only true

(C) Statement I and II are true (D) Statement I and II are wrong

260 s GMés sMwunes WUTEE WSS FwTL_ns.

un&Gwib-1 : @efenowpm Qmpésavnet gael.

eung&uwib— 11 : wer Gemiay (o) AWSSSDS &GdDEEDS.

(A) ung@wib 1 ' @b oM (B) eung@wip 11 wor” Qb &M
(Cyoumég@uwin 1 wpmyb 11 siwnergy (D) euné@wib | womib 11 eupneugy

45. Match the following :

Conservation Law Year

i) Project Tiger a) 1992

ii) Project Elephant b) 1999
iii) Sea Turtle Conservation Project c) 2020
1v) Indian Rhino Vision d) 1973

(A) i-d ii-a iii-b iv-c
(B)i-a idi-c iii-d iv-b
©C)i-b ii—-d iii—~c iv-a
D) i-c ii-b iii-a iv-d
Qummsss : gggl
@

Conservation Law :.s% Year

1) yeSlaer ungismiiy S ib a) 1992
i) wnenenser LngyETILY B L 1b b) 1999
iil) &sL6b g mioaer ungsEmILy S 1b c) 2020

V) @S snesLmAmaskser ungieniy S b d) 1973
(Ani-d ii—-a iii-b iv-c
(B)i-a ii-c iii-d iv-b
C)i-b ii-d iii-¢ iv-a
(D) i-c ii-b iii-—a iv-d

o




47.

48.

Boiling point of wate

(A) Hertz

(B) Light Year

(C) Candela

gaSluflcr Qlepleuneng) C1HS HHEVSMG Seral_LILB&S DG

(A) Qapit v

(A) 273.15K

(B) gofl yeva®

(C) Gsewrigevm

ris 100°C. Its value is equal to
(B) 212°F

(C) 100K

Sller QanBBlenav 100°C. @D &GS FLoLNTS]

(A) 273.15K

(B) 212°F

(Cy 100K

(D) Decibel

(DY Q) §6lu6v

(D) 200°F

(D) 200°F

i D
46. .Thc Vacuum Flask was invented by
(A) Kelvin (B) Antoine Lavoisier
(C) James Dewar (D) Pascal
QeunPIL& GBmeudw FaETBHLIYSSeuT
(A) Glscvailes (B) <pp,co10)L_muIGsT cveumieOwi
(CnGggbaiv Bleumrr (D) Lmav&sD
While going for a ride in merry-go-round you experience an outward pull, this pull is due to
(A) Centripetal Force (B) Centrifugal Force EEE
(C) Electrostatic Force (D) Magnetic Force B
&L @l yegHed apmib CuTLpS, HRI&6T QeualGrr&&w Bensulled @
alengenw 2 eoTi@Siser, (@)ealensssnet STJERTLD
(Aneww GCrnse allens (B) ewow aflevd@ ailens
(C) Bplevev Wleirastlicy aflens (D) &5 allens
Choose the correct pair :
(i) Atmospheric pressure a. Newton
(ii) Force b. Pascal
(iii) Mass c. Kilogram/metre®
(iv) Density d. Kilogram
(A) ()b (i) c (iii)d (iv) a
(B) (i) b (ii) a (iii) d (iv) c
(C) (i)c (ii)d (iii)a (iv)b
(D) (i)d (i) c (iii) b (iv) a
shwner @aemews Csib0ls(\&Ea LD
(i) eueflere Supdstb  a. By L e
(i) adlens b. umavsed
(iii) Alevp c. ECevn@gmb/LBL i
(iv) HL i3S d. &Gevn&gmib
(A) ()b (i) c (iii)d (iv) a
BYYi)b (ii)a (iii) d (iv) ¢ ‘;%‘gg
©) ()c (i) d(i)a Gv)b B¢
(D) (i) d (i) c (iii) b (iv) a .
49. Which unit is used to measure the intensity of sound ? )Cl;- q‘:—
3

1



S1.

S3.

54.

SS.

S6.

Which country will host FIFA 2022 World Cup ?

(A) America (B) Qatar (C) Russia (D) Brazil
155 BB ooooum 2022 2 ewad CantienLienus BLSFa 6Teng) ?

(A) o whssm Breggmi (C) paywn (D) YGr&

I) NATO is established for

providing mutual defence to member countries from an attack
by an external party.

O]
I) Russia is a member of NATO. E‘g@%
which of the above statements are true ? .
(A) Only I (B) Only 11

(C) Both Iand 11 (D) Both I and II are not true
I) NATO ereirugy g Oleuehg g e e SM15&50D Qwig 2miiy F1HSE5sES
ugevuy unglariinans Blmieuliul gy,
II) paypwr NATO afeir 2 mitiSestgns 2_cireng).
GuGev CeT@REsLIUL LSS6b G156 Sy Fflwneasg ?
(41 @b (B) 1l o Qb

©) I wpmb 11 (D) T wpmib 1 geupneng

Who is the first Indian to have won Golden Globe Award ?

(A) M.S. Subbulakshmi (B) Latha Mangeshkar
(©) S.p. Balasubramanyam (D) A.R. Rahman
CanevL_cir &Gemmes afmens CuDD Wsd @BHwi wmi ?
(A*@Lb. IO, &HLILIGUFagLh) (B) s wriGseavami
(©) eraiv. 9. une&EIITWeAWLD (DNer. gyuii. paiponeir

What is the expansion of UAV ? @%E
O}8

(A) Unarmed Aerial Vehicle (B) Unmanned Aerial Vehicle

(C) Unique Armed Vehicle (D) Unmanned Attack Vehicle

UAV @)eir eflifleungsib ersirar 9

(A)r\cweércg;,r'n.b@ aflwed eunsesid (B) <yerwonait® erfwed eunserid
(©) yolls oib® eunseuid (D) <ysironain® o_né eunseid
International Yoga Day is celebrated on

(A) January 30 (B) May 1 (C) June 21 (D) November 19
2.ws Cunst e e1pg srafcy ClsreRr_mLLL@Sng ?

(A) sgareu 30 (B) Gw 1 (Crgoeir 21 (D) meubui 19
James Chadwick discovergd the particle is

(A) Electron (B) Proton (C) Neutron (D) Positron

Cgubev sl sar®ilyss siser
(A) erovggnesr  (B) yGuari_neir (C By orer (D) wmed grer

5
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57.

58.

59.

60.

61.

Statement : The reactiop th
Reason : Because irop jg c

(A) both Statement and Reasop are correct (B) both Statement and Reason are incorrec
S [¢ i
(C) only Statement is correct r o oot t S " |

i @@qu aQ (D) only Reason is correct
. [ . . . )
24 GLb. TOL561 510599650560 B Glupib aflenar & GarhmLb

(©) &P o Gub & (D) snpesid w @b &M

EIEE]
Choo§e .the c.orrect acid and its use, .
(A) nitric acid - digestion of food

A (B) sulphuric acid — bathing soa
(C) vinegar — preserve food materials : S

(D) benzoic acid — detergents
aner Csin0ls®
(A) oplMé opfevip — 2 ewrey1Glum@ensefer Qefmeid
(B) sebyMé oyfevih — Gaflwed Gamiy
(Cnalleflsi — o awrayw Cunmer Qe HGursmey @wss
(D) Oueremig ohlevih — Fovency Geniiy

silwnes gyhevih LOHOID ST Lweias

Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
STRLOADAGD, LOGH&F6T BLors LOMMIUSHEG eThS Uy (LPSEW STTeTLOTEng 2
(AYweburir e g éeana® (B) <@ybConesilwm

(©) »CGermiesr (D) ewam” pggeir

The most commonly used cooking gas contains LPG which means ?

(A) Low Pressure Gas (B) Liquified Petroleum Gas

(C) Leak Proof Gas (D) Low Phosphorus Gas

Clungieuns 98s araller LWL Famowed eumyeadles o cirer LPG erairg)
(A) GoDHES WSS eumy (Bh&geuwnsgsiiul L Gul Gorelw eumy
(C) sfeuewL_wns eumy (D) geomps urevugev eumy

Who is Greta Thunberg ? E]l é-‘m

(A) A Scientist N (B) A Holywood Actor

(C) A Tennis Player (D) An Environmental Activist for Climate Change

&Gy L e1bluid eresTLIGUT Wi ?

(A) @@ oflesepred

(B) @ avralley” pys&iT

C) @@ Qrcraflav algi

(ARG LmeuBleney LIDDSHDHESTET FDMIFSGLPE HTaucur
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62. What is INS VIRAAT 2
(A) Submarine
(C) Aircraft Carrier
| &. oT6tr. e1av. Gy GIGIDIGY GT6iTaN 9
’ (ANBT eLp1p & s 1iL6h
/ (C) alwrensd s188) 516

(B) Warship
(D) Missile

(B) Gunis a6

J (D) aroysement
. / 63. Match the following : g%ﬂ

/ (a) Ponniyin Selvan i (1) Seethalai Sathanar
/ (b) Manimegalai

(i1) C. S. Lakshmi
h (c) Kuyil Paatuy

(iii) Kalki
¥ (d) Sivappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
(A) (iii), (i), (iv), (ii)
(B) (ii), (i), (iii), (iv)
(©) (W), (i), (iv), (iii)
(D) @), (i), (ii), (iv)
Cunmsss
(@) GlunereNufer Qesveussr (1) 88smev sngsemmt
(b) wefGwseanev (i) C.S. ewaih
(©) Guisb ur @ (iii) @&
(d) Souiy supsas e R Udens upeney (iv) &Uigoenfiu ungs)
(Ax(iii), (i), (iv), (ii) ‘
'| (B) (i), (i), (iii), (iv)
] (C) (), (i), (iv), (iii)
(D) (), (iii), (i), (iv)

| 64. Who is the President of Ukraine ?

; (A) Volodymyr Zelenskyy (B) Vladimir Putin

I (C) Boris Yelstin (D) Denys Shmyhal

? 2. & JIele G Wwoss Seneveur wmi 9 -

; (ANCeunevig 18 Qesvsitevd) (B) aflewmg.8r 19657

It\ (C) Gunilev eTevaivie cir (D) Gl _ewrafley Awmbammed

H | 65. Ason 31%Jan. 2022 which State has installed highest overall renewable energy capacity in
fi India ? %E

1‘ (A) Karnataka (B) Gujarat O] :.(.I.

i (C) Maharashtra (D) Tamil Nadu

l 31 gaweul 2022 eir Hleveugiing, e1bs wrBleh 85 Glaeitenenay Bmeir Clamar_
! HEII$85565 afsss) aupme Al L He wpsed ib URES DG ?

; i]' (A) sipm_sLb Byweons
| (C) wamgmaipy mib (D) sAp5n®

123
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Which is wrongly matcheq 9
(A) Igneous Rock — Lime Stone
(C) Sedimentary Rock — Sandstone
(@{)Q/Jgﬂﬂw %18l Sumng @)y
Lunenm — e i

© umwafmﬁwymﬁznﬂ% (B e O e e
67. ]\;I‘an(g:rod\:ie Forest is located in i distr(ilc)t) i “’@“ULDE &
Efg)ll.'ll-lll @Z:J(g:;rr@g; ( B) Coimbatore (C) Dharmapuri (D) Salem  [IP%%
(Ay g GT(TB) G LTUCLSBI Iyeibgisiars!.

smubLggni  (C) sy (D) Gsevib

i _
@ i::::ﬁf:)rnﬂ.l;f;ol.lod\r?g .Statemems and answer the right option from the given.
Statement.(A)a-";) ain 1s related to educationally specific selective migration.
Statement (B C“emPIO}'me.nt and under employment are the reasons for Braindrain.
A) State ) : Country of origin is gaining potential leaders and talent.
EC) State::nts XA) and (B) are wrong  (B) Statement (A) true, (B) wrong
(esTaupLh :J (.&;Wrong, (B) true (D) Statements (A) and (B) are true
T&EESWm) . . . e 1T, . g .
wrE@wsens Ggr'r,r_r',@‘;eg)? SBSBD Osran® CErR&sLIuL Benereunmer FAwmas
FPWI  JPley LewliQuwiss ereug) CsisQs@asUUL L 56 -
. . Csip0ls@ssLuL L s6vall Fmr
o LU uwiGeaun® @gm_r'n_/ml_wgngm.
UTE&GWLD (A) : 9fley el IQLIwWiFH)s e Qs . s .
Geaueanevulesten oG g,l;lgmm eé‘;(f;&m.a?@ Geousmeveumiiiestento LopmiLb &&H&CEHL
curg@wid (B) : Inpsmn® ei®isnew sasuismartyib, Hpawsrelsmanrtib

(B) Intrusive Igneous Rock — Sill
: (D) Metamorphic Rock — Diamond
GBS eireng o

CumSmg).
(A) W”"?@”—“—f’ (A) wpayb (B) seumy (B ‘suns@uwib (A) &M (B) seumy
(C) aurg&wib (A) seumy, (B) & (D) euré@uwib (A) wHmith (B) &
@ Which country is the largest produce of platinum in the world ?
(A) India (B) Russia (C) China (D) South Africa
Aerr g ed 2 PLSHUI 2 wECwCuw WsCudw sl e1g) ?
(A) @BSwr (B) gawwm (CY Gewrr (D) Qser <y INssn
70. Drilling of oil wells is the hole drilled in the layer of the Earth. Oki0)
(A) crust (B) mantle (C) inner core (D) outer core Bt
yad ST (b eTadblenTiis GlewsmIsHeT ML &SLILIBHBGTDGT ?
(ANGuGevniged (B) seuss§led (C) =it s@adlev (D) Glovadl s@alled

71. Find out the wrong pair.
(A) Mangal Pandey — Barrackpur
(C) Velunachiyar — Sivagangal
SUDTG (@)enecRTeniL] ST 5.
(Ahwrﬁ:a;eburrsrr’a‘r(b’t_ — UAgSLYIT
(C) Gougupmé@umt — FlousmIMS

(B) Rani Lakshmi Bai — Jhansi
(D) Kattabomman — Nerkattum Sevel

(B) grewflovl ghluimis — gn6hé)
(D) &L Qumbwe — CEHaL @ Caae




|
/

72. Who discovered the direct sea route to India from Europe ?

(A) Columbus (B) Megallen
(C) Vasco da Gamma (D) Marco-polo
&Cniiunaledm g QBLwralp g Groy. &_s) wifleow sty sseut wmi ?
(A) @smevibuev (B) Gseveveir
(CYwnevGsm_smnm (D) wriGsr GunGeun
73. Who emphasized the unity of Hindu-Muslim ? %
(A) Ramanuja (B) Adi Shankara (C) Kabir (D) Meecra Bai

Q551 (1peveSid B e ey myS@weurt wmi 9
(A) @umognigeir  (B) 28 smisgi  (Crei D) Bom umd

Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
formed in 1964 ?

(A) Yassar Arafat (B) Robert Schuman

(C) Konrad (D) President Nasser

1964 6b o Bounss i unevevger alBlsame @uwsssHer LOSSHNGT FEOHGUEUT Wi ?
(A wrei oypmug (B) griuﬁl; QDOLoGHT

(C) Qsneirgm. (D) @9ui prsi

@ Who founded the Adi Dravida Mahajana Sabha in 1893 ?

(A) Rettamalai Srinivasan (B) Swamynathar

(C) T. S. S. Rajan (D) V.S. Srinivasasastri

1893 &b BB nalL wenger sa CTGHIEILD DI 2 (FeumE&@weurr wmi 9
(A) Qi en_oenev Eofleunseir (B) seumbmngi

(©) T.S.S. gnggeir (D{’ V. S. wfafleuns snev@ %

76. The name of the new Citizen Safety Mobile app launched by Tamil Nadu Police recently is
(A) Kaavalan (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE
SLOPBA®B HMeued Fienmuwmsd GYLOE&ET LNGISTLILISSTS FLELSH6 Osm_mis i L
&GS OsweSufer Qiywr o
(Ansmeueveir (B) smauch 2. gaf)  (C) wpererrGuimed (D) yeresGumeSeiv

i R
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77, In Tamil Nadu, where wag underw

(A) Tranqubar (B) Korka ater Archacological sitc Museum established ?

PP (C) Musiri (D) Poompuhar
SIOPBT 96D eI £ : , P
UL (Bererg ? boday.de Clsrevailuweh Ferth DIBRISTLQWSLD IJe&ELI
(A) gomisbumg.  (B) Qg
pens ©) wp&n (DY b i
Ly
BIYE -

78. FASTag at the Toll Gates yses which waves
(A) Infra Red Waves

C) Ultra Violet W
( AVES (D) Micro Waves

GRIGEF FTUY SO 2ieniiiae
! m (] . . . Q 0 . .
Lu@mn@a’;m_‘m@@m@mﬁ? OT ooLITOVL. L_M8-GD GIHS GV HETH6IT

(A) <45 Bouliy gemea@i
(©) up 2w YyewaSir

? @y
(B) Radio Frequency Waves

(B),Goig.Guir gjevveuilens
(D) miewsr gyamev ST
79. Match the following :

Country Year of Independence

i) Sri Lanka a) 1971

ii) China b) 1948

iii) Bangladesh c) 1949

iV) Pakistan d) 1947
(A) a b c d
B) b a C d
€ b c d a
®b ¢ a d

QunSSIS :

) 0] FSBSILD CWIHD Gu(HL_Lb

i) ufevriism a) 1971

ii) fermr b) 1948

iil) umsarTGgay c) 1949

iv) un&evsmeir d) 1947
(A) a b c d
B) b a c d BgE
C) b c d a  [EPE
Dnp c a d

Who is the author of the book ‘Keezhadiyil Ketta Thalaattugal’ ?

(A) S. Venkatesan (B) Erode Tamilanban
(C) Vela Ramamoorthy (D) Karthik Subramaniyan
‘Bupig uieh GaL L STV HSET er6htm medleir & Mwir wmir ?
(&) &. GloumisGLgasr (B) mGyn(® SLOpeiTLIGH

(C) Gouav grioeLpliss) (D) amig®é sl fgwenflwict
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